S
M
H
afo

Rk 31 FE ZESHMTaia=7r4 77k
® o = X % B = FH O OF H

PRI FE L EmBA T OAI2=T 4TI MEHE F RS F O TR IT RITE

HLEZAIZLS,
(s A3k T 57
14 AR TEOBREEIL mAKEENEN 10,756 THEEDD,
2 WMABRH THRHOKEOR /K OYEX ST IE, NH1REARKE T H I

£,
(— FRf fEF A 422)

H2k MG HIRIES 235 KD 3 2 HOMEIZLD — K fE A& DOME AN Dk & FH

1%, 5,000 THEED D,

Rk 314 2 H 21 HigEH

- 391 -



FH1E mARETHE

% A (HAL - FH)
K H & %A

1 4 K OVEHH 4 300

1 5344 300

2 i BB OV 5ok} 1,601

1 Rk 1,601

3 WA 8, 854

1 =g A 8, 854

4 a4 1

1 A4 1

% & 10, 756

S3a=7 4 - FTY MEREESRIH 302




L i ({7 < 1)
K I % A

1 Kbt !

1 ¥ P 1

2 s 4, 457

1 it s B 4,457

3 AR 5, 797

AL 5,797

4 4 |

1 a3 1

5 TliH%E 500

1 T2 500

i =) i 10, 756

303~ S a=7 4 - 7Ty MEGHEEEIRG




moOA R T R OF E B M E

1. #¥5
GAN
5 B ) %
1 ek OAEE 300
2 i FPBE R OV 450kt 1,601
3 AR 8, 854
4 k4 1
% A = at 10, 756

8
171

2 =T A« 7T v MR SR

-394~




(B2 T-H)

E[] B =1 % I s
300 0

1,401 500

9,289 A435

1 0

10,991 A235

—-395-

A a=T 4 - 7T MEEEEREG



E/e KA THEEE| fi 4 E T B % [

1 %5 E 1 2 A1
2 haek & 4, 457 4,691 A234
3 INEE 5,797 5, 797 0
4 FE A4 1 1 0
5 TnE 500 500 0

% H & 3 10, 756 10, 991 A235

a3 a=T 4 T2 NEEFEEENSE -396-




i e ) A
— MR
E O X M oe | RO H & o J M z D
0 0 0 0 1
0 0 0 1, 600 2,857
0 0 0 0 5,797
0 0 0 0 1
0 0 0 0 500
0 0 0 1, 600 9,156

897-  @Ra=7 4 - 7T MEHEERIS




2. WA
) 1 HHEERTEES

K
I AKOAE R pil A [EA
H
1 4344 K VA4 300 300
1 34 300 300
1 s 300 300
GK) 2 BERRL R O Hck
2 1l B OV H0k) 1,601 1, 401 200
1 55 1,601 1, 401 200
1 fE R 1,601 1, 401 200
GK) 3 #AE
3 M4 8, 854 9, 289 A 435
1 fha=Fhi A4 8, 854 9, 289 A 435
1 —REHEAL 8, 854 9, 289 A 435
GR) 4 s
4 feR 4 1 1
1 Ak 1 1
BT 1 1 0

A a=7 4 - 77 MEEFEERNSE 398




(HAL FH)
i
= E
ES 4y b H ! ¢
1 INAE 7384 300 [BLAEFE 4y
1 FAESE AR 1, 601 |BAEE Sy 1, 600
AR 7y 1
1 — xS Fti A4 8, 854 —fik = Ftid A4
1 4 1 [Adhil 4
-399- a3 a=7 4 « T MEIEFENSE




K K E KT Moo W N R
TH A B | RTAE | O # ! It R
E ] UR S H 4 & | = O fih perE
1 MBE 1 2 Al 0 0 0
1 e 1 2 Al 0 0 0
1 — s P 1 2 Al 0 0 0
() 2 hak
2 Mg E 4, 457 4,691 A234 0 0 1, 600 2, 857
1 gk e g 4, 457 4,691 A234 0 0 1, 600 2,857
1 it 5% B 4, 457 4,691 A234 0 0 1, 600 2, 857
() 3 ANEE
3 NEE 5, 797 5, 797 0 0 0 0 5,797
1 NEE 5, 797 5,797 0 0 0 0 5, 797
1 T4 5, 688 5, 603 85 0 0 0 5, 688
2 Fl|+ 109 194 A\85 0 0 0 109
() 4 A4
4 G4 1 0 0 0 0
1 fE X 4 1 0 0 0 0
1 — AR FT#: 1 0 0 0 0
Hi4>
() 5 Tt
5 Tm% 500 500 0 0 0 0 500
1 TAg 500 500 0 0 0 0 500
L TR 500 500 0 0 0 0 500
I 2=T 4 - 7T N ER SR -400-




_ (HAr - TH)
Hl
x 4 | & = 2
23 BB E&H+ | —REHEE 1
T OV 5[ 86 23 fEEAH| 7 M OIS K 1
RN AR T 4 1
s B % 665|222 =T 4 7T MNEREHRE 4, 457
2% % % 968| BHEEE 100
13 % #t # 2,824 13 & FE Bt 100
O— ¥R I BT A Ziekt 100
e+ B OIS ER LT 100
i 4, 357
11 & # 665
THFEMLE 44
Tk E 471
EfER 150
12 &% % # 968
A EWE 66
FEE} 899
PRI 3
13 &% 3t K 2,724
O—FEBIZHET oLtk 2, 724
KB Rkt 170
EX SEH Tk} 70
ik & PR Rt 2, 484
23 fHiE&F 1 5, 688|704 5, 688
K OVEIS [k 23 fER A7 M OV 5k} 5, 688
EEIE T 5, 688
23 BB E&H+ 109|F]F 109
S OVEI5 [k 23 fEIBEGH| 7 L OEI5 R 109
T EEEF 7 99
— IR A& F 10
28 M H & 1[#H& 1
28 M & 1
29 T i % 500 | T & 500

-401-

a3 2= 4 « 7T N ERNEE




4z

o,

(2 1%

A HEE T H B oM B AR R

FE

)

A

] U 5 H 4

T

Z o

— fix PR

A a=T7 4 - 7T MEEEERSE

—402-




(HAr - TH)

&
oy

i i

29 T fi %% 500

A03- 3 Ia2=T - 7T NEEERIR




EBAHEIT 2 TREE LRI 00 DIZHOWTORTFE R ETO ST

SCHIVBAD FIA Fp Je O R%AR BE LU OO S T E AR (B 0 &

(HEpz: FH)
%ﬁ%ﬁ%iﬁi@? %'IEZQE};\*FE%EE%OD o MR AR

T e s HTER W 72 B IR |

W & W st | 2o
T 2 A T TR

Zop » 100 - ~ 100
R RIE:S S
RLS14E

iRk EZE R 2,484 — ~ 912 1,572
RS 14E
R RIE: S

KB T ZFER: 170 — ~ 62 108
DA RIES S
A2 =T AT TN R R R R - 404 -




W7 18 DR & R PESRIZ IS 1T 2 BIE il QN BT AR EER e OF

YRR RICB T D IUE R O RIARITEE T 5 &

Gifir - )
R B LA AR
WixlEER | RTEREK : A
S SR | BUERSLAM | g | ORI | SUER LA
e am |
RIA
%éﬁﬁ#ﬁ@iﬁ% 12, 996 7,393 5, 688 1, 705
- 405 - AIa2=T 4 T T MR E R S E




A2 =T 4+ 7T MR fif € KRR G ~406-



